
d((x1, y1), (x2, y2))
d
(x1, y1), (x2, y2)
x1 =
x2
d((x1, y1), (x2, y2)) =
y1−y2
y1−y2y1−y3+y3−y2
y3x3 =
x1 =
x2
x1 ̸=
x2
d((x1y1), (x2, y2)) =
1+
y1−y2
1+y1−y21+y1−y3+y3−y2,

x3
(x1 ̸=
x3)∨
(x2 ̸=
x3)
d((x1, y1), (x3y3))
1
d((x2, y2), (x3, y3))

X
(x, y)
0 <
r <
1
(x′, y′)
B((x, y), r)
(x, y)
r
x′ =x
B((x, y), r) = {(x′, y′) : x′ = x, y′−y < r},
<
[y−
r, y+
r]
R2

(R2, d)

xn
f(x, y) ̸=
0
f ∈
Cc(X)
K
0 <
r <
1
Kr

K ⊂
n∪

i=1

B((xi, yi), r).

rx
Kxi

E
Λµ
µ(E) =∞
V :=
{(x, y) :
y ∈
(−ϵ, ϵ)}
ϵ >
0
ϵ <
1
V

En :=

n∪
i=1

B((xi, 0), ϵ/2),

xixi
>ϵ
En
En ⊂
E ⊂
V
f ∈
Cc(X)
F ≺
f ≺
V
f(x) =
1
x ∈
F
Λf
atleastnxiϵ

Λf =

m∑
i=1

∫ ∞

−∞
f(xi, y) dy

n∑
i=1

∫ ∞

−∞
f(xi, y) dyn

∫ ∞

−∞
χ(−ϵ/2,ϵ/2) dy = nϵ.

µ(V )Λfnϵ.

ϵn →∞
µ(V ) =∞ϵ
µ(E) =∞
K ⊂
E


